+ TAIZHOU

1986

A10V(S)O/31 Variable Displacement Piston Pump ETERNAL HYDRAULIC

A10V(S)O/31 £ 7| E &4 E R

#1 ;& Overview

AOVS)MRIITEHEZRHAMNEXNMEERTER, 453 T WET
VAR, MR E A FAXERBEESHIITE, RAEMREH,

BE TIEE I 7T528MPa,

A1V(S)0/31 series variable displacement piston pump swash plate axial plunger variable

pump,respectively for industrial use and for mobile machinery design, is designed
for open loop hydraulic driven design, adopts a shaft structure, rated working

pressure up to 28Mpa.
iE EEEE RS
Cylind “_ Control | Valve Plate
B8 Boa  \ pmon " e
Swash Control
Plate Vale
&
Case
E3
Shaft |
E
End
" Cover
2 | EIEE
Case Retuming
Piston
Ba Features
XRWREBELL TRIEENHE, EIAHTHE %The capacity of the pump is in proportion to its rotating speed
ZRATHE, TUERTE; anddisplacement;the stepless adjustment of the displacement

can be materialized by regulating the swivel angle of its swash

KASHMEEREHRR, =506 EE;

late.
¢ S0 EE IR AT 0 THE B A1 AT 3% 28MPa, piate

¥ There are many variable control forms, Fast control response;

HETA TGO, BRI R/ERLE; % Allows for continuous operating pressures up to 28MPa;
XIRBhEHEE R M R R M A, % There are two shell discharge ports;
XEPEMEN, TRERAESR; % High power/weight ratio;

% The drive shaft is able to bear the axial and radial load;
% With through-shaft structure,able to form combination pump;

24



RIS #5i8 Type Code

AloVS O 28 DR / 31 R — A 12 KB3
1 2 ) 4 5 6 7 10 4 12
1-TI{E4r &k Operating Medium
| #4913 Mineral oil (548 No Code ) I
2-£5#943 2 Machinery Classification
thiEsE, #ak, e, T A Axial piston, swash plate design, variable, used in industry A10VS
EiEe, #Es, AETEE, fTEHNMIE Axial piston, swash plate design, variable, used in industry AoV
3-iE174E = Operational Mode
| FF3CE 2% Open circuit (0] |
4-#11& Size
| AFRHEENominal displacement mL/r | 18 ‘ 28 | 45 ‘ 71 l 88 [ 100 ‘ 140 [ |
5-$2 44144 Control Devices
EiEES, PO Two point control, directly operated DG e o | o o | e | @ e DG
& 1424l Pressure Control DR e | e | @ | @ | @ | @ | @ DR
iz #2 [E 7132 %] Remote pressure control DRG e | @ o | o |0 |0 e DRG
& hik @32 %l Pressure and flow control DFR e | e | o | e | o | @ | e DFR
FEhifiE=E# Pressure and flow control DFR1 e | @ | ® | ® e | o | @ DFR1
FE /133424 Pressure and power control DLR ® | e | ® | o | 0o | @ e DLR
EhiRETh RS °
Pressure and flow and power control DFLR ® . * e ® . DFLA

6-#%7 Series

=

7-HEREA E ( MEIEE ) Rotating Direction(View on Shaft End)

JIfi B £t Clockwise R
# 4t Counterclockwise
8- Seals
THEBKNBR, M S8 K Shaftseal FKM
F B VitonFKM v

El#&i%BEChart shows: @=v]LI{EEAvailable, O=7E# & HIn preparation, —=7cNot available

25



9-%i{# Shaft End

18 28 45 71 88 100 140
FghhfiKeyedshaft DIN6885 o o | o o |0 |0 |0 | P
I F @4 Parallelshaft SAE withkey J744(1SO3019-1) e | o | o | | | 0 o K
1t 44 Splinedshaft ANSIB92.1a, standard shaft 3/4" | 7/8" | 1" 1/4"\1 1/4"1/2" 1| 3/4"| S
it thHSimilartoshaft S BE BRI EELE 347 | 787 | 17 [1 17411 187 - = R
4B Splinedshaft SAE = = = = 1147 - W
10-%23& % = MountingFlange 18 28 45 71 88 100 140
ISO 27l o | o | o (0|0 |0 = A
SAE 27 ° ° ° ) o ) - o]
ISO 47l = = = = = = B
SAE 47, = = = = = 3 D
11-T{Eih O Service Line Ports 18 28 45 71 88 100 140
55l OSFAE M OBERM, SAEERZ, AHIRLL L4 L4 ® L4 ® L4 e | 12
Port S and port B at opposite sides,SAE flanged ,metric = B s PY PY g - | a2
3 OSHES M OBERM, SAERZE, HHMRY ® ® ® ® ® ® ® | 62
Port S and port B at opposite sidesSAE flanged, UNC mounting bolts | _ — = PY °® = - | 92
12— % 3R F Through Drive 18 2oWis ks 71 esl 100l 140
T iE 3 3h Without through drive | ° | ° ‘ ) ‘ ° | ° | ° ‘ ° ‘ NOO
HIEMRIKE MREERTIT
With through drive, the second pump connection dimension as follows
REE= Hheh AIEZ MR
Mounting flange | Spline shaft The second pump
SAES82,27 U%#5/8in9T16/32DP CR10VS018/31 [ ] [ ] ® [ ] ( [ ] ® | K01
SAES82, 27L S#43/4in11T16/32DP CR10VS018/31 ) ) ° ) ) ) ® | K52
SAE101,27L S#47/8in13T16/32DP CR10V028/31 ) o o ) o ® | K68
SAE101,27L S#47/8in13T16/32DP CR ) ° ° ) ) ® | K02
SAE101,27L S#l1in15T16/32DP CR 0VO45/31 (] (] [ ] (] ® | KO4
SAE127,27L S#l1 1/4in14T12/24DP | CROV071/31 (] ([ ] [ ] ® | K07
SAE127,27L S##1 1/2in17T12/24DP | CR 0V0100/31 ® ® | K24
SAE152,47L S#l1 3/4in13T8/16DP CR0VO140/31 ® | K17
S080, 27L S#}3/4in11T16/32DP CR0VS018/31 [ ] [ ] (] [ ] ( [ ] ® | KB2
S0O100,27L S#(7/8in13T16/32DP CR 0VS028/31 ([ ] () () (] [ ® | KB3
1ISO100,27L SHi1in15T16/32DP CR 0VS045/31 o o ) o ® |KB4
S0125,27 Shh1 1/4in14T12/24DP | CR0OVS071/31 o ) ) ® |KB5
1ISO125,27L S#i1 1/2in17T12/24DP | CR 0VSO0100/31 ° ® | KB6
1ISO180,47L S#h1 3/4in13T8/16DP | CR 0VSO140/31 ® | KB7
ISO 80,27 Fi@gih o 18 CR0VS018/31 e | o | ©o| | | @ | @ |K51
SAES82,27| Fi4h $19.05 CR0VS018/31 ) ) ° ) ) ) ® | K40
SAE100,27L g4 ¢ 19.05 CR 0VS028/31 e | o | o | @ | @ | @ (K2

26




18 28 45 71 88 100 140

T i@ %38 5 Without through drive e[ e[ e e[ e e e N0
HIBHIR S, M REER T

With through drive, the second pump connection dimension as follows

RIEE= e AIEEZ MR

Mounting flange | Spline shaft The second pump

SAE101,27L F 22225 CR10VS028/31 - e | e | o | @ | @ | @ (KO3
ISO 100,27 4225 CR10VS045/31 - - | ®e| ®| @ | @ | ® (K26
SAE101,27L T4 254 CR10VS045/31 - - (] [} ° () ® | KO5
ISO 125,27 32 CR10VS071/31 - - - | e | @ | @ | @ K27
SAE127,27L EiEE 31,75 CR10VS071/31 - - - ° [} (J ® | K08
ISO 125,27, F 240 CR10VS0O100/31 - - - - - | @ | ® [K37
SAE127,27l T H38.1 CR10VS0100/31 - - - - - | ® | ® |K38
1ISO 180,4 T 45 CR10VS0O140/31 - - - - - - ® | K59
SAE152,47 F gt 4445 CR10VS0O140/31 - - - - - - ® (K21

BERIGEH: HARGESEK, BMNEMENERR—EF, RAHER, BBRNEZERBANE,

MRITMARR, BARNESAHE-—ARNES+E_ARNESS,

Description of combination pump: Two pumps can be connedted in series by their head and end, namely integrated to

be a combination pump.by the means of through—shaft,and the se cond pump of the series combination is called the
subordinate pump.

In case of placing an order, the combination pump model equals to the model of the first pump + the model of the second.
#8 A R A SR Hllllustration of combination pump model:0S4VS045 DR/31R-PPA12KB3+0S10VS028DR/31R-PSA12N00

¥ A &% Technical Data
B5#3 Parameters Table

#1&Size 18 28 | 45 71 88 | 100 140
HEEDisplacement Vgmax mLr | 18 28 | 45 71 88 | 100 140
RNH SIES (X4 EST) =RES Psmin Bar 0.8
Pressure at suction Minimum pressure d
port S (Absolute EREH
pressure) Minimum pressure | Psmex bar 10
BEEN
HBOBEA (#31ES) |  Rated pressure PN bar 280
Pressure at Outlet IEEE S
port B (Absolute Peak pressure Prmax bar 350
pressure) EINES oo "
Minimum pressure
EHTALIEZER  Rate of pressure change Ra bar/s 16000
EROL. LES (EExTES)
Drain port L, L1 pressure (Absolute pressure) P bar <2
Eaii%ii" V=V, O No max i
Max. speed o= Vg max B ¥min | 3300 | 3000 | 2600 | 2200 | 2100 | 2000 | 1800
Ps= 1bar Vg= Vg max ¥ rmin | 3900 | 3600 | 3100 | 2600 | 2500 | 2400 | 2100
%kiﬁ% n=n B;j' L/mi
Max. flow 0 max Qo max min | 59.4 84 117 156 185 200 252
n = 1500 r/minAf L/min 27 42 68 107 132 150 210

27



#18Size 18 28 45 71 88 100 140
HEEDisplacement Vgmax| mL/r 18 28 45 71 88 100 140
EKRIZE n =ng maxft Pomax | KW 27.7 39 55 73 86 93 118
Maximum power
(Ap = 280 bar) n =1500 r/min B¢ kW 12.6 20 32 50 62 70 98
H%E A p=280bar At Tmax | NM 80.1 125 | 200 316 | 392 445 623
Torque
(Vg =Vgmax) A p=100 bar Bt T Nm 28.6 45 72 113 140 159 223
fw P . Nm/rad| 13158 | 25656 | 41232 | 80627 | 80627 | 132335 | 188406
Shaft extension P
fE S
‘ Shaft extension S Nm/rad| 11087 | 22317 | 37500 | 71884 | 71884 | 121142|169537
Torsional . Nm/rad| 14850 | 26360 | 41025 | 76545 | 76545 | - =
e Shaft extension R
ftx U . Nm/rad| 8090 | 16695 | 30077 | 52779 | 52779 | 91903 =
Shaft extension U
R K . Nm/rad| 13340 | 26189 | 43905 | 82112 | 82112 | 135303 | 196844
Shaft extension K
R REEIRE )
Moment of inertia of the: rotating assembly J kgm? | 0.00093 | 0.0017 | 0.0033 | 0.0083 | 0.0083 | 0.0167 | 0.0242
RARMEE
Max. angular acceleration rad/s?2 | 6800 | 5500 | 4000 | 3300 | 3300 | 2700 | 2700
FIER L 0.4 07 | 1.0 16 | 16 | 22 3.0
Volume of case
BE
Weight kg 12 15 21 33 33 45 60
IRENEARY S iR SRk Hiﬂmj’ N 700 1000 | 1500 | 2400 | 2400 | 4000 | 4800
. Max. axial force
Drive shaft
= 1R
Allowable load RREET N 350 1200 | 1500 | 1900 | 1900 | 2300 | 2800

1) Vg =Vgmax BRI EEE A Tl O SHI#E OE S APs = 1bar ( 43tEH ) BAYIER, Hi#OEIPs BnsHEER,
NWEZRATIEIN, LHiFHEOEFIAPs mn = 08barkt, HEFLH/NEI0%, Vo<Vo max BIHIBUE AEEIEIRIR .
1) OnceVy = Vgmax, the value is applicable to the inlet pressure at suction port S is Ps = 1bar (absolute pressure),when the inlet

pressure Ps increase or decrease the displacement,the speed can be increased,when the inlet pressure Ps min=0.8bar,the speed
should be reduced to 90%.Vg<Vgmax value when the speed limit.

A& ¥ Technical Data
W2 F R N SEFNIESHIREhH%E  Permissible input torque and through drive torque
1% Size 18 28 45 71 88 100 140
148 Torque
Tmax Nm 125 200 316 392 445 623
(V.  B.AP=280barft ) 80
Temax Nm 88 137 200 439 439 857 1206
4fi{d Shaft P
¢ mm 18 22 25 32 32 40 45
BAENLEY Temax Nm 124 198 319 626 626 1104 1620
Max . input torque ") Hhfeh Shaft S
$ in 3/4 7/8 1 11/4 11/4 11/2 13/4

28



& Size 18 28 45 71 88 100 140
#14E Torque
(VomeELA P=280 barfif ) Tmax Nm 80 125 200 316 392 445 623
Temax Nm 160 250 400 644 644 - -
Hh{# Shaft R
BrwAE" $ mm 3/4 7/8 1 11/4 11/4 - -
Max . input torque )
Temax Nm 104 145 212 433 433 750 1186
4gi{fH Shaft K
¢ in 3/4 7/8 1 11/4 11/4 11/2 13/4
th# ShaftS | Tomex | Nm 108 | 160 | 319 492 492 778 | 1266
RKRIBEHIREh S
Max . Through drive| ##f#i ShaftR |  Tomax Nm 120 176 365 548 548 - -
torque
Bl Shaft K |  Temax Nm 104 | 145 | 212 433 433 750 1186
1) EBAT IR EDIERBIIESIH For drive shaft free of radial load
H5E4>% Torque Distribution
T, Ts

—R
First pump

W% &l Hydraulic oil

T1E#EEESEE Operating viscosity range
ATRERENENERSEG, RINEWNEUTRETEE
RIEFETIEHE ( TIERET )

For optimum efficiency and service life, we recommend

that the operating viscosity in the range of the following
best (at operating temperature)

B TR

Optimum operating viscosity Vopt =16~36mm%/s

FEEESEREIMR A Limits of viscosity range

ElRRIEZRGT, ERUTHIE:

Under critical operating conditions the following values apply:
Vmin =10mm %s 2T [E Short time (t<1min)

= oV SRkttt iR A 90T

Max. permissible case drain temperature of 90°C

Vmax =1000mm %s  #gHFiE Short time (t< 1min)
p<30bar, n<1000 /min, 8 =-25C

29

=3
Second pump

HEFRERERE

Selection Considerations of hydraulic oil
ATERERORER, HARERZEE FRANNT
1ERE (FXEE ) . ET/ERECEMEERER, X
RESREMETE, BIEREMLER TREMNMESR,
SRR EZEAMBNEENZN, FERLSTH
FHRE, B2, HEREMBAMNBEHREEIZ0TC,
A KIBHM AR E— R L Rt imEERs C AR,
Inorder to select the correct hydraulic oil. it must be determined
at ambient temperature within the tank temperature (open circuit).
Select the hydraulic fluid in the working temperature range for
optimum  viscosity range, it recommended to choose where
relevant, the higher viscosity grade.

The case drain temperature is influenced by pressure and input
speed and is always higher than the tank temperature. However,
any partof the piston temperature shall not exceed 90°C.The
fluid temperature in the bearing area is generally higher than the
average case drain oil temperature high around 5C



$24132 8 Control Devices

1. BE##%IDG Direct Control DG

BT OXEM— MR ENEERRIABRNMER,
FREIM AT B EHIEE, FENR/IES H500ar, TE
EEQEEngax'—ngminz a1k,

EE: MOXETENYHRENSENMOBHSERIEENERE
=B

An external switching pressure can be applied to Port X to
minimize the swivel angle of the variable pump. Control oil can
be supplied directly for the control piston under the necessary
minimum pressure of 50 bar. The variable pump can only be
shifted between Vgmax and Vgmin .

Note: the switching pressure needed at Port Xiis in direct

correlation with the actual working pressure of Pressure Port B.

2. [EH#E$IDR Pressure Control DR

EAEHERHEOEHARBEE, ARTERIARUBBEER
FOBITRHENRERRE, HOENTERES R LR
REo

The pressure control will keep the outlet pressure constant.
Therefore, the variable pump only delivers as much fluidas
required by the actuator elements of the hydraulic system.
The outlet pressure can be set through stepless adjustment
on the control valve.

g 140
| R R
| WA
TR
#H& 18 ~ 100

)T(
R
L il
T T
| o —
| =
[ |
|“am ]
[ = i
Lt S

3. iZFBEH#=4IDRG Remote Pressure Control DRG
1BEEEHKINEEREE SDRMER, AIEMIR—NERRS

i AXAEE R IR AR H

R RN SIEEDRGIZHIMHESEE N,

The function and equipment of constant control is sImilar to

that of DR. The remote control can be realized by

connecting an external relief valve with Port X. Relief valve

is not included in the scope of supply for DRG control.

g 140

#& 18 ~ 100

30



$24I3E Control Devices

4, ENREEHDFR/DFR1
Pressure and Flow Control DFR/DFR1

BT ESRRITIEEZ S, REvAHRE Y RETFHREL
EHTRELNEZHITET, TERRERERZHNHITT
HEREZENRE, AZTEENTUBHZM, EEHME
FimEEHl,
FREAEIEEDFR/DFRIIEHIMEESEEZ W,

DFR1$ZH B HH OX 5 REZ BRI TR FLEE A

In addition to the pressure control function, the outlet flow of
the pump can be adjusted by the differential pressure of the
throttle valve installed onthe oil supply pipe. The varlable
pump delivers the fluid needed by the actuator elements of
the hydraulic system and is free from the influence of the
changes in actual working pressure. Pressure control takes
precedence over flow control.

Relief valveis not included in the scope of supply for DFR/
DFR1 control.

The throttle orifice between Port X of DFR1 control valve and
the pump chamber is enclosed.

DFR1$% %] iR §;X AN 5 FL Al

#1% 140

#1& 18~100

6. EFIhZ4=H Pressure and Power control DLR
xR E ARG R EES], The control unit no flow control.

& 140

31

5. ENRENERES DFLR
Pressure and Flow and Power Control DFLR

ATETEENEZUH TR TRSEEHIREALE, BEHE
WHRE, EREMENHNRRRFEE, RMEHIIERR
%'lEEO

BT H AR FE R T TR H # & A T #A T,
TiREAEEEDFLREHIFMSISEEZ W,

In order to gain constant driving torque under the working
conditions with changeable working pressure, the output flow
can be changed to keep the product of flow and pressure
constant, namely to keep the output powerful of the pump
constant.

Flow control can only be conducted below the constant power
control curve.

Relief valve is not included in the scope of supply for DFLR
control.

FH% 140

#1& 28~100

#1& 28~100




SMERST #4818 ABVE = ($ZHIH14ADR. DRG. DFR/DFR1)
Dimensions size 18 Flange A (Control devices DR, DRG, DFR/DFR1)

EE
150 3019-2
J
2|
'qul
=]
3]
S
4hfH Shaft
S TEEEH, 3/4in 11T 16/32DPY
(SAE J744)
30
%ﬁ 14
Bl ol .8 :
=gl
=1 = z | o
\
21 |
(‘ll
38
i@ 0 Ports
B H5l O Outlet port
S it A Suction port
L jttt i/ O Drain port
L1 ittt HDrain port
X 22413 O Control pressure
X1 #=4l5H O Control pressure

R E$25h, 3/4in 11T 16/32DP"

(SAE J744)
14
$ 5
(&)
=z
=
[=]
o
<

QREL:ES: 3

[lilipEs g nkein
AR E
| | ﬁ =)
| i =
| L— | 3
| / I £
| O @
| " b g g
el 8
| (| 32
i ] . dl
106.4 |
- 152 =
fis 109 el
W [E1LE

U 7454, 5/8in 9T 16/32DP
(SAE J744)

W*ﬂ

R315x 867

DIN 332

158 |

31.8

=

i£=Flange SAE J518 3/4in ( #x/# %% Standardseries ) #%TfLFixing thread M103&17

& =Flange SAE J518 1in (#x# %%l Standard series ) #8$TFLFixing thread M10i®17

M16 x 1.55R12
M16 x 1.55%12
M14 x 1.5512
G1/4i&12FDG#z#lIFor DG Control

i R\BRECEEFLOKLIO, BREERE,
Dependent on the installation position,port L or port L1 must be connected.

32



SMER ST #4818 CBLIE = (#2%I414#3DR. DRG. DFR/DFR1)
Dimensions size 18 Flange C (Control devices DR, DRG, DFR/DFR1)

& AT RERE R
R R
i l
E= =)
ISO 3019-1 A5
&
l E
q‘.
og| i
8 |
8 | o
w
1
#HPHEDG
FiEZE i E T,
148 = ELE
©
G
Hfl Shaft
P FEfE4h DINGS8S, ABx6x25 K F4esh, Parallel with key
ISO 3019-1 22-1
28 +03 »..J
. & Centering®
gg 5 - (kfﬁ?he) JTR31667 DIN33Z _1
A o\ 113(286) [],
L1 § \,.[010 \ :
} oo A H28) 11|
¢ ook T I
w3 0 <t A——— Alll ||.
- S50 in
/ = 1
/ o
R 130(38) I
A 3.15%6.7 -
1.61 (41)
DIN 332 =B
i# 0 Ports
B Hih A Outlet port i£=Flange SAE J518 3/4in ( #x# %% Standardseries ) #$TfLFixing thread 3/8—16UNC;20 deep
S I%i# A Suction port i£=Flange SAE J518 1in ( ¥R %%l Standard series ) #2%TFLFixing thread 3/8-16UNC;20 deep
L ittt i A Drain port M16 x 1.5i812
L1 jttti#1 O Drain port 9/16-18UNF-2Bix 12
X 22413t [ Control pressure M14 x 1.55812
X1 #=#liHOControl pressure G1/4i®12FDG#z#lIFor DG Control

i RIBREMEEFELOSLIO, SREZBE.
Dependent on the installation position,port L orport L1 must be connected.

33



SMERST #g28 ABVE= ($ZHIH1#ADR. DRG. DFR/DFR1)
Dimensions size 28 Flange A (Control devices DR, DRG, DFR/DFR1)

v B §T AR AT,
B R E
/
EE
IS0 3019-2 o)
o 2 5
z 3|
=)
= z
[ !
3 i
..\‘.s | ] E
Y
4
w
ihfHE Shaft
S feddts, 7/8 in 13T 16/32DP" R {Ei#4h, 7/8 in 13T 16/32DP" U fEs@%h, 3/4in 11T 16/32DP"
(SAE J744) (SAE J744) (SAE J744)
331 s . s
P 16 & o] LA
S S 2 S| .,
e 5 = = N
= ﬁ = [, = *;P |
=} e | & il it | B Qe B
2 =zl 1| 1M 4 L JJ_llt i+
=+ -I-l_'gill = N T Eq
== | 1|0 I
[ AR
ﬁ | HREARE | o5 B
251 [P | | ( ]
/ LM " 3
41 i 38
ifi0 Ports
B Hif A Outlet port i&=Flange SAE J518 3/4in ( #xi# Z# %l Standardseries ) 8T #LFixing thread M103%%17
S %38 A Suction port i&=Flange SAE J518 1 1/4in ( #x# % 5| Standard series ) #8247 fLFixing thread M10iR17
L 3tttifh A Drain port M18 x 1.5iR12
L1 ittt 81 1 Drain port M18 x 1.5%812
X #2413 0 Control pressure M14 x 1.55812
X1 #5405k 0 Control pressure

G1/4i# 12 F DGz #IFor DG Control
i RIBREMERFLOSLIA, SIUEERE,

Dependent on the installation position,port L or port L1 must be connected.

34



SMERSE #4528 CELEZ (I2%I#L43DR. DRG. DFR/DFR1)
Dimensions size 28 Flange C (Control devices DR, DRG, DFR/DFR1)

T{EMO12 ( #£#414DG. DFLR, DLR) Port 11 (Control devices DG, DFLR, DLR)

v ilingapid=-giu
- 118 'y W B
95 a0 L fz- /
.}%g 6.3 1, L | A i ) (// o
1SO 3019-1 (@)= /el e
vl y - S A 2
i | 2 & ©
| \ T * e lE
%E | N /
oG | %, / o
o [_] S { b |
3 II_L|I il
S f o
1 ® =
——E—-— I b ) =
L1 e
L40 BT 164
194
4 L 136 !
w
W EHLE
Nl '
%&L
t Tolo
5§0.g
TH{H Shaft
P F§#4h DING885, ABx6x32 K &4, Parallel with key 1ISO 3019-1 22-1
36° 53
. 010 113
S (2.5)](28.6)
& F |
N | o
NN Il
o | %
| 818 =t
Zat | =] i+
=t 55 @ Qo7 "o |
I g < = =
@ S 063 |, 4
f (16)
1.31_1(33.3)| 7
1.63 (41.3
# 0 Ports
B Hi 0 Outlet port £ =Flange SAE J518 3/4in ( #R#t %% Standardseries ) #24TFLFixing thread 3/8-16UNC;20 deep
S MRt A Suction port 3£ =Flange SAE J518 1 1/4in (¥R %%!Standard series ) #4TFLFixing thread 7/16-14UNC;24 deep
L ititith A Drain port M18 x 1.5i®12
L1 3tttif A Drain port 3/4-16UNF-2BixX 14
X 22438 0 Control pressure M14 x 1.55812
X1 3=l O Control pressure G1/4i®12 - FDG#z#IFor DG Control

i RBERFMEERFELOSLIO, SHUuEEsf,

Dependent on the installation position,port L or port L1 must be connected.

35



5pMEER~E #1828 Dimensions size 28

EHIBADG TIEmO12 EHRIZEADG TIEmO11
Control devices DG port 12 Control devices DG port 11
Z mineE
EEEW Likugaprtsdin® ! :
158, | g R it
=1 7 )
/ =
__HI f b
. Y ™ O

<
25 104
IR | FY

99.5 12 |
1065 L2

#HAXDFLR, DLR T{EmO12 #=H AKX DFLR, DLR T{EmO11
Control devices DFLR, DLR port 12 Control devices DFLR, DLR port 11
[l]iag3 gk i ol 10 B T HERERT,
EreEaE MR aE
198 ;
l X / il ne
U 4/ o BE .
g | _4.q___m \ : g °
: A
119
1355

I/EmO11 (#=5#4DG. DFLR. DLR) port 11 ( Control devices DG,DFLR, DLR )

ZERE \matetiesbat,
AERE
9.5 90 1 |

or 63 |~

IS03019-1 i ]|

o
g
i . X —— 'I: g
i3 9{ ] | ¢ N
= I ale BT
s l | VAR R
- J ~ €
g g
ha 3 S A
= 170 J N
L 209 __ P32 |8
226 7

36



MR $iiga5 ARVE= (ZH|#14ADR. DRG. DFR/DFR1)
Dimensions size 45 Flange A (Control devices DR, DRG, DFR/DFR1)

\'
9.5 133
6.3 96 *
o L_\ x
1SO 3019-2 5 | ‘
\ R e
& =
g - i o X
3 , 31 £
! =
3 EE” e P 11imit ] ‘
) . i
| I =]
‘ﬂ ® a
- | w0
T | |
o 11430 1A ' =
45
184 |
L 219
224
A
Hhfh Shaft
S 4R, 1in 15T 16/32DPY R £, 1in 15T 16/32DP" U FE48%h, 7/8in 13T 16/32DPV
(SAE J744) (SAE J744) SAE J744
a ~ 16 331
g 16 z =
& B | &l 16
O ---l5 N LI} (}! ™
= \ Q &5
8* L i ¥ =
9 == UL & 2
3 b)) by =
L A
| 30 | =
."l.
45.9
@A Ports
B H3l O Outlet port 7% =Flange SAE J518 1in (4R &% Standardseries ) #8%TfLFixing thread M10iF17
S % A Suction port i£=Flange SAE J518 1 1/4in (#x#t &%l Standard series ) #8$TFLFixing thread M12i%20
L ittt i A Drain port M22 x 1.5i%14
L1 3ttt £ Drain port M22 x 1.5iR14
X 2213 O Control pressure M14 x 1.55812
X1 #=4lifm A Control pressure G1/4i® 12 F DGz For DG Control

i RIBREMEERELOSLIO, BREEHE,
Dependent on the installation position,port L or port L1 must be connected.

37



SMERSE #4845 CELEZ (I2%I#43DR. DRG. DFR/DFR1)
Dimensions size 45 Flange C (Control devices DR, DRG, DFR/DFR1)

TeEmO12 (#=H#14DG. DFLR. DLR) Port 12 (Control devices DG, DFLR, DLR)

=

ISO 3019-1

8.5 .
6.3 96

N
\

v
v

8
g__:,: il
: H
= . }:W 8
___,Jzﬂ_-s_l\u B
45 _|
184
219
4
W
V mE
B
—'—..-$- @/’ .
D] |9
& |
&
26.2 e

Hif# Shaft

P Fkth DINGS85, ABx7x36

42
39

28 02

# 0 Ports

B Hi3l O Outlet port

S IR if O Suction port

L ittt i [ Drain port

L1 itthil A Drain port

X 22138 O Control pressure
X1 #=4l5H O Control pressure

i RIBREMEBERFLOSLIO, SAEERE,

Dependent on the installation position,port L or port L1 must be connected.

$£=Flange SAE J518 1in (#R=/# &%l Standardseries ) #24TFLFixing thread 3/8-16UNC;18 deep
3% =Flange SAE J518 1 1/2in ( #x/# % 5l Standard series ) #24TFLFixing thread 1/2-13UNC;22 deep

M22 x 1.5i% 14
7/8-14unf-2BiR 16
M14 x 1.5i%12
G1/4iR12FFDG#z#IFor DG Control

buil G RapEyin
MR R

40 |

max. 110

80.5

89.9

K T4k, Parallel with key ISO 3019-1 25-1

= =
o 3
o P
- B
DN‘ oo
— O [ssflo o}
mm oo~
—Q

<

]

1/4-20UNC-28 5

0.09 1.37

(s
)
&

Bad) [

1.5 _1(38.1




5ME R~ Dimensions

EHEXDG ITiEmOA12
Control device DG port 12

Eik=mR
173

]

I

Mo S RERE AT,
RS

=HIEXDG TEHmO1M
Control device DG port 11

——

14

25

=HIBKDFLR, DLR T{EmA12
Control device DFLR, DLR port 12

MRS REEERS
[EEDE=S S04

1/

TiEMmO11 ($=#I¥1#DG. DFLR. DLR) port11 (Control devices DG,DFLR, DLR)

2.5 228
6.3 96
L
—
W =
o }L _lé
S5 5 o| E
= e L
5 -
®
=]
s J;,. L <o
ISO 30191 _14__3__\_ : L1
45
189

245

. 103

Z @A

IRt RT,
AR REME

EHIBKXDFLR, DLR T{EimHA11
Control device DFLR, DLR port 11

ediphdping iy
[Eliphre d A

ZERE

IEIRe $HaEEERd
b= na




SMERSE #4571 ABYE = (#2HI#14DR. DRG. DFR/DFR1)
Dimensions size 71 Flange C (Control devices DR, DRG, DFR/DFR1)

127,
6 | 115
s '
1SO 3019-2 % . B
ool o t ‘ =
W u (=]
Q . hy =
oF i
o =]
o [
o]
| =
A =
/ 107.5 143
| 160
TR T,
A RELE
V [ B AR E W [ & B4R
i Shaft
S 4, 1 1/4 in 14T 12/24DP" R 4, 1 1/4 in 14T 12/24DP'2) U fE&4h, 1in 15T 16/32DP"
(SAE J744) (SAE J744) (SAE J744)
= 475 38
2 19 H 5 16
3 2 q
(6] 6 aes o & Aar
z I o z i
] T v s 18 £ 2 |
| _I_ i_ _ - wALl ]| @ o _|
- i = T 3 '
S === N & 3 ai
' ® |
| N
'|| 1
|
39.5 | Al AR E _‘
| {
_/‘l /
55.4 |, 55 i
i# 0 Ports
B Hih O Outlet port i£=Flange SAE J518 1in (#x# %5l Standardseries ) #8$TFLFixing thread M10i§17
S i O Suction port £ Flange SAE J518 2in ( #x/# %&%!Standard series ) #24T¥LFixing thread M12i%20
L itttif A Drain port M22 x 1.5iR14
L1 ittt 381 O Drain port M22 x 1.55%14
X 22413t [ Control pressure M14 x 1.55812
X1 #=4#liHOControl pressure G1/4i®12FDG#z#lIFor DG Control

i RIEREMBEELOKLIO, BREERE,
Dependent on the installation position,port L or port L1 must be connected.

40



SMER T #4871 CRIE = (#2%I4143DR. DRG. DFR/DFR1)
Dimensions size 71 Flange C (Control devices DR, DRG, DFR/DFR1)

T1EmO42 (#=#I#¥#DG, DFLR. DLR) port42 (Control devices DG,DFLR, DLR)

R SRR AT,
127 il gk vl
.6 - Y
EE "
1S0O 3019-1
\ \I". # ?/ ||
d W \ w UL =l
© A \ =
D.: ! LY 1_.|
7 " \ ]
e :
!
(8]
@
1075 |, 143 .
160
W mEEHRE
o 2
NI
4@ 1§ Shaft
P T4 DINGS8S, A10x8x45 K F44h, Parallel with key ISO3019-1 32—1
0.12 1.63
33138 3) [[141.3)
+0, = —
(7.91 S gi ]
g, =8 :
: o 0 15—
g8 10 S o - ||
o =8 — . el
1o 21 SBro
Ty] o o)) W —
P S @0 NN 5
mT < 075019,
O '1.87/(47.5)
2.18]_(55.4],
@A Ports
B Hih 0 Outlet port 3% =Flange SAE J518 1in (R %%l Standardseries ) #2$TFLFixing thread 3/8-16UNC;18 deep
S % A Suction port i£=Flange SAE J518 2in ( #R# %%l Standard series ) #2%TFLFixing thread 1/2-13UNC;22 deep
L ittt 581 O Drain port M22 x 1.55814
L1 ittt [ Drain port 7/8-14UNF-2BiR 16
X 22413 O Control pressure M14 x 1.55812
X1 #=4lif 0 Control pressure G1/4i% 12 F DGz For DG Control

i RIBREMEBRFELOSLIO, BREEBHE,
Dependent on the installation position,port L orport L1 must be connected.

41



SMERST #1471 Dimensions size 71

EHEXDG ITiEmNA42
Control device DG port 42

[id:0Eap it 240
R REAE

#=HIBKDFLR, DLR T{EimA42
Control device DFLR, DLR port 42

WA SRR,
([ Sk

EHIEXDG TEmO4
Control device DG port 41

Z LA

NG 1 HEFE R,
EaRRaE

:.;L.ﬁ_[ﬁ_ﬁlx

o] |-
— i
o ? ;
=4
242.5
250
EiEx

EHIBRXDFLR, DLR T{EimHA41
Control device DFLR, DLR port 41

I RERERT
A REmNE

TiEMmO41 ($=#I¥#DG. DFLR. DLR) port11 (Control devices DG,DFLR, DLR)

150 3019-1 :

12.7,

115

N

o

@127 0osz

1Zam=
o I - \\\ L1
.53 o
223
279

(I Jore
~

42

13

[lil:peapding
AR E

7S




SMER ST #145100 ARE= (2% H148DR. DRG. DFR/DFR1)
Dimensions size 100 Flange A (Control devices DR, DRG, DFR/DFR1)

12.7 229 3 WA e AT,
b 6,1, 175 [BlEe 3 A

15O 3019-2

o
= 2
- 275 ol
317 e 180 wl
329 210 =l
A i 148.4
w 164.9
Ve EEALE W B /EBRE
B
o —y
K] |
&1 12 2
- 5 g
¢ &
L ¢ %8
[ 31.8
Ih{h Shaft
S g, 11/2in 17T 12/24DPY U JE85H, 1 1/4in 14T 12/24DPV W TEs5, 1 1/4in 14T 12/24DP"2
(SAE J744) (SAE J744) (SAE J744)
s 54 . 47.5 R
‘;1 = | 19
o 28 8 i g ||
8] ; 5 - I ol 2
% 95 [.E Y % %
= o il | |-:| Dy © 12 i sl
Nmmsssms)) & 3|
= + 5=l
| I'| |
| TREKE ss__|[]Y)
435 | d
J 554 _V
61.9
i# O Ports
B il O Outlet port iE=Flange SAE J518 1 1/4in ( & E & %High-pressure series ) #8£T#LFixing thread M14i£19
S % A Suction port i£=Flange SAE J518 2 1/2in ( #x#t &%l Standard series ) #8$TfLFixing thread M12i%17
L ittt 81 O Drain port M27 x 2i%16
L1 ittjl FDrain port M22 x 2% 16
X 2213 O Control pressure M14 x 1.55812
X1 #=4lifm A Control pressure G1/4i® 12 F DGz For DG Control

i RIBREMEERELOSLIO, BREEHE,
Dependent on the installation position,port L or port L1 must be connected.

43



SMERSE #145100 CELE = (#2%I4143DR. DRG. DFR/DFR1)
Dimensions size 100 Flange C (Control devices DR, DRG, DFR/DFR1)

TeEmO12 (#=#HI#14#DG. DFLR. DLR) Port 12 (Control devices DG, DFLR, DLR)

g0 €3 ginsk 2iu 8
M RERAE
b
1SO 3019-1 A
W miE
f i .
s =1 WY
8 S
iH{H Shaft
P F4#ih DING8B5, A12x 8 x 68 K Fiih, Parallel with key 1ISO 3019-1 38-1
70
0.3758
— e 83738 0.06(1.5
o8 (9.52+0'025) .
- -
. A m— s S2i%
o 88| ol KT o §D\-:
wal 5 5 :I;[ e 2l ==
< §| i < | 119
v & ¢ - B,
} 213
2.44 (61.9)
i#1 O Ports
B Hif O Outlet port i£=Flange SAE J518 1 1/4in ( §JE&%IHigh—pressure series ) #25TFLFixing thread 1/2-13UNC;19 deep
S % O Suction port i£=Flange SAE J518 2 1/2in ( #x# &% Standard series ) 82T FLFixing thread 1/2-13UNC;27 deep
L ;titifh A Drain port M22 x 1.5iR14
L1 itttif A Drain port 7/8-14unf-2BiR 16
X #2213 O Control pressure M14 x 1.55812
X1 $=#lM 0 Control pressure G1/4i%12F FDG=#IFor DG Control

i RIEREMEEFLOSLIO, SREEBRE,
Dependent on the installation position,port L or port L1 must be connected.

44



5pSR~E #4100 Dimensions size 100

EHEXDG ITiEmOA12
Control device DG port 12

gk agindad:o
268 MR R B
EEEM
,,K
!
i
9

=HIBKDFLR, DLR T{EmA12
Control device DFLR, DLR port 12

Naet $1 A2 S
G ae
p 8

=HIEXDG TEHmO1M
Control device DG port 11

ZERE
[ Eagapt=1:i M

EHIBKXDFLR, DLR T{EimHA11
Control device DFLR, DLR port 11

iR i
PRI LT

TiEMmO11 ($=#I¥1#DG. DFLR. DLR) port11 (Control devices DG,DFLR, DLR)

127,

;‘EE -

1SO 30191 s

lo

o127 %.06
e

20

45

121

Mt et BESRHT,
AR E



SMERST 148140 BE!% = (#=2HI41#ADR. DRG. DFR/DFR1)

Dimensions size 140 Flange B (Control devices DR, DRG, DFR/DFR1)

k= 6.4, 173 - X
ISO 3019-2 '

.06

0

]

@180

L1

HEL
78 \

2 |
B 275 E
337
V REERE

82

200

BT RERE BT,
EE R R

P 5 DINGB85, A14x9x80

81.5

Hhi# Shaft
S fEgitd, 13/4in 13T 8/16DPY
(SAE J744)
- 67
a! 32
|
%I o “[L% \
= %_I‘_‘l\l |J|
| i 1 o i
gj ,I_,dl_._z/if | I u‘T gg
i G 9
|I <y 3
|
. 53 |
-t e )
e oo
#0 Ports

B 3 A Outlet port
S it A Suction port

L itttif A Drain port M27 x 2iR16
L1 ittt 381 O Drain port M27 x 2i% 16

X 22413t [ Control pressure
X1 =45 OControl pressure

i RIBREMBEFLOKLIO, SHREEERE,

M14 x 1.5 12
G1/4iR 12 F DGz For DG Control

Dependent on the installation position,port L or port L1 must be connected.

46

108

K &4 Parallel with key
ISO 3019-1 441

0.06 (1.5 2.56(65) _

-

1.7500 _
DIA] 7 285!2%44501)

I;%-_: H
e

1/2-13UNC-28

ok - o il

1

1.26

e S

82 [l
2.64 [67]

2.95 (75)

i£=Flange SAE J518 1 1/4in ( /& E & %IHigh—pressure series ) #2$TFLFixing thread M14i§19
£ Flange SAE J518 2 1/2in ( #R#t %%l Standard series ) #2$TFLFixing thread M12i§17



SMER ST #145140 DEE = (2% #149DR. DRG. DFR/DFR1)
Dimensions size 140 Flange D (Control devices DR, DRG, DFR/DFR1)

TiEMA12 ($=#/#414DG,. DR, DFLR. DLR) port 12 (Control devices DG,DR,DFLR, DLR)

12.7, 244
6.4 173
30191 N lA

(ks Eap-£23:08
ANRENE

i
g t I |
9 . e |
] ! o 9 LT T h A
i SC : :
1
W
S iEEEH, 13/4in 13T 8/16DP" (SAE J744)
; 67
1 |32 VB EE W B
S| .l 10
2 Fea .
o1 G=tlllh _ &
& ‘H'..Wsﬁ & o\
- e 1 T
53 || | L& &
/ S -l
75t _Nn8_ | | \B h5is LAl 8

TiEmO11 (#=H#N4DG. DR, DFLR. DLR) port 11 (Control devices DG,DR,DFLR, DLR)

127 118

” 6.4—1 173 "‘Q,Bgéz" B
2 s &
“—7 ‘ /{_‘_ T | | e 5
3019-1 é_’ ™ | *‘*% L J:‘l J;l‘ 9 & L otA )
o : | = 1] i Fa) @
o§ 4 [ A ll‘/_ i o ;TODI
- | L g: a7 olo st
g =I | 1 ﬁT X/ o o (@ T B ".I |? lﬁ
' 1 oo = —
ComB— i ]E il Z4N
B ot | L& T
' . 263 | |~S | o
ﬁ__.._- \\\ Ls et =i Ly
-—?B—- 203 88.9 I'u
353
379 Nt RE iR,
EfRECE
i# 0 Ports
B Hih O Outlet port 3£ =Flange SAE J518 1 1/4in ( & E & %IHigh-pressure series )#2$TFLFixing thread 1/2-13UNC;24 deep
S % i# A Suction port i£=Flange SAE J518 2 1/2in ( ¥R %%l Standard series ) #2%TFLFixing thread 1/2-13UNC;24 deep
L ittt i A Drain port M27 x 2iR16
L1 ittt i A Drain port 1 1/16-12UNF-2BiR18
X 22413t [ Control pressure M14 x 1.55812
X1 #2243l A Control pressure M14 x 1.5i% 12 FDG3= %I For DG Control

i RIEREMBEELOKLIO, SREERE,
Dependent on the installation position,port L or port L1 must be connected.

47



5MEER~E #4140 Dimensions size 140

EHEXDG ITiEmOA12 EHENXDG TiEmO11
Control device DG port 12 Control device DG port 11
i:pgagndidiv
268 o Z e
S lipggpd o

(] gkee 30N

=HIBDR, DRG I{EHmHA12 EHIBDR, DRG IT{EHO11
Control device DR, DRG port 12 Control device DR, DRG port 11
iliogagingzFi

MR AR, MR R 2R AL
R R E

#=HIEXDFLR, DLR T{EimO12 #=HIEXDFLR, DLR T{EmHA11
Control device DFLR, DLR port 12 Control device DFLR, DLR port 11
AT S SR T,
Rt B £ MnRRAE

EmEELE

48



i@ R~ Dimensions,, throug drive

% Flange ISO 3019—1(SAE) | #£#Hub for splined shaft’ EMAS  Availability over sixes RE
Ef&Diameter Symbol E 1&Diameter 18 | 28 | 45 | 71 | 88 [ 100|140 | Code

5/8 in 9T16/32DP | @ | @ | @ | @ | @ | @ | @ KO1
82-2 | (A) Sood .

3/4 in 11T16/32DP | © | ® | @ | @ | ®@ | ®@ | ® K52
® = Available - = Not available
T KO1 NG | A1 | A2 | A3 A4”

Section A-B
e i 18 | 182 | 10 |43.3 | M10x1.5;14.5 deep

28 [ 204 | 10 [33.7| M10x1.5;16 deep
45 | 229 [10.7 [ 53.4 | M10x1.5;16 deep
(SAE J744 16-4(A) 71 | 267 [{11.8 (61.3 | M10x1.5;20 deep

e
LITE

foa 88 | 267 |11.8|61.3| M10x1.5:20 deep
| —]
T 100 | 338 |10.5| 65 | M10x1.5;16 deep
140 | 350 |10.8 | 77.3 | M10x1.5;16 deep
v 822 2)
K52 NG | A1 | A2 | A3 A4
Section A-B
o 18 | 182 | 18.8 [ 38.7 | M10x1.5;14.5 deep
Y= 28 | 204 |18.8|38.7 | M10x1.5;16 deep
45 | 229 |18.9|38.7 | M10x1.5;16 deep
={1E (SAE J744 19-4(A-B))| 71 | 267 |21.3|41.4| M10x1.5:20 deep
s 88 | 267 |21.3|41.4 | M10x1.5;20 deep

- - ﬂ]-ji 100 | 338 | 19 |38.9| M10x1.5;16 deep
o mounting flange!
140 | 350 | 18.9 | 38.6 | M10x1.5;16 deep

% 2Flange ISO 3019-1(SAE) | #£#Hub for splined shaft’ EMAAS  Availability over sixes RS
E1&DiameterSymbol H & Diameter 18 | 28 | 45 | 71 88 | 100 [ 140 | Code

7/8in 13T16/32DP| - | ® | @ | @ | @ | @ | @ K68
101-2 | (A) g Loo

1in 15T 16/32DP - | e | e | e| e | e K04
® = Available - = Not available
v 101-2 2)

K68 NG | A1 | A2 | A3 A4

Section A-B

28 | 204 |17.8 | 41.7 M12x1.75

45 | 229 |17.9 | 41.7 | M12x1.75;18 deep

(SAEJ744 22-4(B) 71 | 267 [20.3 | 44.7 | M12x1.75;20 deep
88 | 267 |20.3 | 44.7 | M12x1.75;20 deep

ET:‘G“;B 100 | 338 | 18 |41.9 | M12x1.75;20 deep

B Al (to mounting flange) i 140 | 350 |17.8 | 41.6 | M12x1.75;20 deep

A

Omitte d
for NG 28

21016557

Ad

v 1012

K04 NG | A1 | A2 | A3 A4?

45 | 229 |18.4 | 46.7 | M12x1.75;18 deep
71 | 267 |20.8 | 49.1 | M12x1.75;20 deep
(SAEJ744 25-4(B-B))| 88 | 267 [20.8 |49.1 | M12x1.75;20 deep
100 | 338 | 18.2 | 46.6 | M12x1.75;20 deep

101,655

B-»| AL (to mounting flange) = 140 | 350 | 18.3 | 45.9 | M12x1.75;20 deep

1)30° EHf, FHER, MAGRES, AZ%%K5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)7F & DIN13HH24L Thread according to DIN 13

49



#%2Flange ISO 3019-1(SAE) | £ #2Hub for splined shaft’ EAAS  Availability over sixes RS
E?’I‘DiameterSymbol H1#&Diameter 18 28 45 71 88 | 100 | 140 Code
1 1/4in 14T 12/24DP | - - - [ [ [ ] [ ] K07
127-2| (¢C) Poo
11/2in | 17T 12/24DP | - - - - - [ ] [ ] K24
® = Available - = Not available
¥ 1272 2)
Soction 48 K07 NG | A1 | A2 | A3 A4
71 267 |21.8 | 58.6 M16x2
88 | 267 |21.8 | 58.6 M16x2
(SAE J744 32-4(C))
100 | 338 |19.5 | 56.4 M16x2

140 | 350 |19.3 | 56.1 M16x2;24 deep

A1 {to mourting flange} |

¥ 1272

Section &R

A3

K24 NG | A1 | A2 | A3 A4”
100 | 338 |10.5| 65 M16x2
140 | 350 | 7.9 | 73.3| M16x2;32 deep

(SAE J744 38-4(C-C))

Al (to mounting Aznge)
% 2Flange ISO 3019-1(SAE) | #£#Hub for splined shaft’ EAAES  Availability over sixes =
H1&DiameterSymbol Hf&Diameter 18 | 28 | 45 | 71 88 | 100 | 140 | Code
152-4] () 83 1 3/4in 13T816DP | - | - | - | - | - | - | ® K17
63-4 83 Metric keyed shaft @5 _ ° ° ° ° ° ° K57
@® = Available - = Not available
¥ 152-4 Section A-B
A3
13
]
;E% =
mé LIt = K17 NG | A1 | A2 | A3 A4?
J__J| & (SAE J744 44-4(D)) | 140 | 350 | 11 |77.3 M16x2
1
 Sun )
L 161.6 Al (to mounting flange)
¥ 63-4 metric?!
Section A-B K57 NG A1 A2 A3 A4 A5
Ad
28 232 8 10.6 | 58.4 M8
n 45 257 8 11 81 M8
N 71 283 8 12.5 77 M10
(4-hole flange)
88 283 8 12.5 77 M10
100 354 8 10.5 81 M10
Al (to mounting flange 140 366 8 11 93 M8

1)30° EHfa, FiEiR, MEEE, AZEZ%K5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)75 & DIN13H#24L Thread according to DIN 13

50



% =Flange ISO 3019-1(SAE) | £ Hub for splined shaft’ EAES Availability over sixes RE
E&DiameterSymbol E & Diameter 18 | 28 | 45 | 71 88 | 100 | 140 | Code
Sood? 3/4in 11T16/32DP| © | ®© | @ | @ | ®@ | ®@ | @ KB2
80 |2-hole -
100 |2-hloe o 7/8in 13T 16/32DP | - [ [ [ [ ] [ ] ° KB3
1in 15T 16/32DP | - - [} [ ) [ ) [ ] [ ) KB4
® = Available - = Not available
¥ 80, 2-hole
Omitted for NG140 Section A-B

KB2 NG | A1 | A2 | A3 A4?
18 | 182 [18.8 | 38.7 | M10x1.5;14.5 deep
28 | 204 |18.8(38.7 | M10x1.5;16 deep

45 | 229 [18.9[38.7 | M10x1.5;16 deep
(SAE J74419-4(A-B))| 71 | 267 [21.3|41.4| M10x1.5;20 deep
Al (to mounting flange) . 88 267 |21.3|41.4 M10x1 5,20 deep

omitted
for NG100

100 | 338 | 19 |38.9 | M10x1.5;20 deep
140 | 350 | 18.9 | 38.6 | M10x1.5;20 deep

¥ 100, 2-hole

Section A-B

i KB3 NG | A1 | A2 | A3 A4”
1,10
28 | 204 |17.8|41.7 M12x1.5;
45 | 229 |17.9|41.7 M12x1.5;

71 | 267 |20.3 | 44.1 | M12x1.5;20 deep
88 | 267 [20.3 | 44.1 | M12x1.5;20 deep

(SAE J744 22-4(B))

A2

B A1 (to mounting flange) [ 100 338 18 41.9 M12x1.5;20 deep
140 | 350 [17.8 |41.6 | M12x1.5;20 deep

¥ 100, 2-hole

Section A-B
o KB4 NG | A1 | A2 | A3 A4?
%g 45 | 229 |18.4 | 46.7 M12x1.75
? 71 | 267 |20.8 | 49.1 | M12x1.75;20 deep
) 1K (SAE J744 25-4(B-B))| 88 | 267 |20.8 | 49.1 | M12x1.75;20 deep
’é :2 100 | 338 |18.2 | 46.6 | M12x1.75;20 deep
B AL (to mounting flange) 140 | 350 |18.3 | 45.9 | M12x1.75;20 deep

1)30° EHfE, FHR, MERES, AZE%HK5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)#F & DIN13HI424L Thread according to DIN 13

51



% =Flange ISO 3019-1(SAE) | £ Hub for splined shaft’ EAES Availability over sixes RE
E&DiameterSymbol BE & Diameter 18 | 28 | 45 | 71 88 | 100 [ 140 | Code
11/4in 14T 12/24DP | - - - [} [ [ ) KB5
125 |2-hole oo .
180 |2-hloe 11/2in  |[17T12/24DP| - | - | - | - | - | @ | @ | KB6
23 13/4in 13T 8/16DP - - - - - - ) KB7
® = Available - = Not available
¥ 125, 2-hole >
KB5 NG | A1 A2 A3 A4
Section A'B
71 267 [21.8|58.6 M16x2
88 | 267 [21.8|58.6 M16x2
(SAE J744 32-4(C))
100 | 338 [19.5 | 56.4 M16x2

140 | 350 | 19.3 | 56.1 M16x2;24 deep

¥ 125, 2-hole

2)
Section A-B KB6 NG A1 A2 A3 A4

10 100 | 338 [10.5| 65 M16x2
(SAE J744 38-4(C-C))

140 | 350 | 7.9 | 73.3 M16x2;32 deep

AR

A1 [to mounting flange

¥ 180, 4-hole

KB7 NG | A1 | A2 | A3 A4”
(SAE J744 44-4(D)) | 140 | 350 |11.3 | 77.3 M16x2”

L58.4

158.4 Al (1o mounting flange]

1)30° EHfE, FHR, MERES, AZE%HK5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)#F & DIN13HI424L Thread according to DIN 13

52



A10V(S)O/32 A 7| L&A R R + TAIZHOU
A10V(S)O/32 Variable Displacement Piston Pump ETERNAL HYDRAULIC

#1 ;& Overview

A10VSO/R2RFIZEBHERMAREXMEHETER, H5HIT WA
EVM AR, MREEAFXEBRERZIGHN, RREHENE, 53|
ETEEANTTE28MPa,

A10V(S)O/32 series variable displacement piston pump swash plate
axial Plunger variable pump,respectively for industrial use and for
mobile Machinery design, is designed for open loop hydraulic driven
design, adopts a shaft structure, rated working pressure up to 28Mpa.

I8 itk DEES Ras —f\—‘ i
Swash Cylinder Control Valve p A Control
Plate Block Piston Plate / Vale
\ \ \ """6, D
=ik
Case b
enhih e
Shaft = T
| ' )
I
E 7 :
i
End
Cover
& EHR HE SEE
Case Platan Piston Returning Piston
Ba Features
XPBLENMEEETER, ATHAXEBDREREESN  %Varable pump with axial piston rotary group of
XHRBEEIEEMIIERIEL . swash- plate design for hydrostatic drives in open

circuit

XAETETERAERELTRELRE.
KERER T A # N B SR

* Flow is proportional to the drive speed and

displacement.

HEERO LN EERARE ¥ The flow can be infinitely varied by adjusting the
XERSELLS swash- plate angle.
KARERKED % Hydrostatic unloading of the cradle bearings
MR % Connection for measuring sensor on the high—

. pressure port
XBERSM., WikEHDFFTHEIEE T % Low noise level
X8 BRI »*Low pressure pulsation

% High efficiency

% High resistance against cavitation, loss of suction
pressure and case pressure peaks

»* Universal through driv

53



BIE#7iA Type Code

AIOVS O 45 DR / 32 R —
5|6

1 2 3 4

\'
7

P B 22U B3
8 9 10 1"

1-£549 43 25 Machinery Classification

| a2z, Himst, A&, T Axial piston, swash plate design, variable, used in industry ‘ A10VS |
2-iz1744 = Operational Mode
| FF=L[E 2% Open circuit | (0]
3-#1& Size
| ZAFR#ENominal displacement mL/r 45 | 71 | 100 | 140 |
4= #1449 Control Devices
BE#E%, ML Two point control, directly operated DG DG
® [ ] o o DR
iR X-T7 Bopen e | o o | @ DRF
E&J3# Presaure Control with flow controller X-T3<Hplugged @ ® [ ] [ ] DRS
H#IE T2 izl Remote pressure control e o | o | @ DRG
E5MPa [ ] [ ] [ ] [ ] LA5D
HE ) B5.1Z9MPa [ ] [ ] [ ] ® LAED
With pressure cut-off 9.1%E16MP e | ®© | @ | @ LA7D
ThE#HPower control ThE S I - =) a
beginning of control H16E24MPa TN | & LA8BD
HBit24MPa e | e o o LA9D
IhEiEH, wEN Y IZEEE )
Power controller with pressure cut-off , ThEMEMER L [ ] [ ] [ ] [ ] LA*DG
remotely operated
RS, WEAIE, KEES, X-TXH )
)F(’o ?r .corclitroller with pressure cut—off flow control, hEAEERE L [ ] 2 [ ] [ ] LA*DS
-T plugge
ThEH, wRMAERE, X-TXHA
Power controller flow control, X-T plugged, hEWMEER L ® ® ® ® LA*S
electically over—ridable (nega —tive control)
5-%7%l| Series
32
6-HEEE A7 1E ( MELEE ) Rotating Direction(View on Shaft End)
N Bt £t Clockwise R
¥ EF§T Counterclockwise
7-%%f Seals
] SRAEVitonFKM v

8-%f#{# Shaft End

45 71 100 140

424 {lKeyed shaft DIN6885

gk {@Splined shaft SAE

g2 shHSimilar to shaftS & & 1B HIREh 48

Bl & BAChart shows: @=mTLl{it & Available, O=7E# & HIn preparation, —=7FNot available

54




9-% ¥ % = Mounting Flange

| 1047 | B |
10— {EiH O Service Line Ports
| WOSRENMOBERAMS A, SAERS, AMETI, AR AMED | 22u |
11-@ 5K Zh Through Drive s o G e
T i@ #HIK 0 Without through drive ° | ° | ° | ° | NO0O
IR, NREERSTWT
With through drive, the second pump connection dimension as follows
RIEFHE= e AT EEZHIM R
Mounting flange | Spline shaft The second pump
1SO80-2 S#f 3/4in11T16/32DP CR10VS018/31 [ ] [ ] [ ] [ ] B2
1ISO100-2 S#f 7/8in13T16/32DP | CR10VS028/31 ® ® ) ® B3
1SO100-2 S#h1in15T16/32DP CR10VS045/31 [ ] [ ] ° [ ] B4
1ISO125-4 S#h1in15T16/32DP CR10VS045/32 ) ) ) [ Ejl
1ISO160-4 S#h1 1/4in14T12/24DP | CR10VSO71/32 = [ [ ° B8
1S0180-4 S#h1 1/2in17T12/24DP | CR10VS0100/32 = = () [ ) B9
1S0180-4 S#h1 3/4in13T8/16DP | CR10V0140/31-32 - - - ® B7
SAE82-2 U% 5/8in9T16/32DP CR10VS0O18/31 [ [ [ ) 01
SAE82-2 S#h 3/4in11T16/32DP | CR10VSO18/31 [ [ [ ° 52
SAE101-2 St 7/8in13T16/32DP. CR10VS028/31 ([ ] ([ ] (] (] 68
SAE101-2 S#h1in15T16/32DP CR10VS045/31 [ [ [ ° 04
SAE127-4 S#1in 5T16/32DP CR10VS071/31 ® ([ ] ® ([ ] E2
SAE127-4 S#f1 1/4in14T12/24DP | CR10VS0100/31 - ) [ ° 15
SAE127-2 S#f1 1/2in17T12/24DP | CR10VS0140/31 = = ([ ] ([ ] 24
SAE152-4 S#h1 1/2in17T12/24DP | CR10VS0100/32 - - ) ° 96
SAE152-4 S##1 3/4in13T8/16DP | CR10V0140/31-32 = = = ) 17
AR EH Technical Data
W2 %% Parameters Table
% Size 45 71 100 140
HEEDisplacement Vg max mL/r 45 71 100 140
Pressure at suction Minimum pressure
port US (Absolute BEEBEH
pressure) Maximum pressure Pamex bar 10
BEEN
P
Hih OBIE 71 (4834 E 1) Rated pressure N bar 280
Pressure at Outlet IEEEH
port B (Absolute Peak pressure Prmax bar 350
pressure) BINES N I
Minimum pressure
JE /124K 3% 2 Rate of pressure change Ra bar/s 16000
MmO, LES (B3XHES ) N bar »
Drain port L,L1 pressure (Absolute pressure)

55



#Hitg Size 45 71 100 140

HE=Displacement Vgmax mL/r 45 71 100 140
R Vg= Vg maxkf No max r/min 1800 | 1800 = =
Max. speed
Ps = 1bar Vg< Vg maxkt r/min - - 1800 | 1800
e N =N o maxkt Qo max L/min 81 128 180 252
BRRE
Max. flow n = 1500 r/min B L/min 675 | 106.7 | 150 | 210
BRI N =N o maxHt Po max kW 38 59.7 84 118
Maximum power
(Ap=280 bar) n = 1500 r/min Bf kW 31 50 70 98
H4E A p=280 bar Bt T max Nm 200 317 446 624
Torque
(Vo= Vgmax) A p=100 bar B T Nm 72 113 159 223
Hfw P . Nm/rad 34587 | 80627 | 132335| 188406
Shaft extension P
HEFE R B S
Torsional Shaft extension S Nm/rad 29497 | 71884 | 121142| 169537
stiffness
i R i}
Shaft extension R Nm/rad LR | s
SR ENIRE
Moment of inertia of the rotating assembly J kgm? 0.0035 | 0.0087(0.0185| 0.0276
ﬁﬂiz;ﬁ;r?ugﬁf acceleration rad/s® 4000 | 2900 | 2400 | 2000
AR
Volume of case L 1.0 1.6 2.2 3.0
\;i;h;i;ght kg 30 47 69 73
HisETorque o4
(ngaXE.A p=280 barET_f) Tmax Nm 200 31 7 446 6
T Emax Nm 200 439 857 1206
iR P :
Shaft extension P
ot ¢ mm 25 32 40 45
T emax Nm 319 626 1104 1620
BR@AmE) | WES
Max. input torque” Shaft extension S ¢ i 1 114 | 112 | 13/4
e Nm 400 644 - =
W R ;
Shaft extension R 6 in : 11/ _ B

1) Vg =VgmaxBtBIEEE A T Wil OSHY#E OE A1 APs=1bar ( xtEH ) BHROER, Lk OEDPEmsHEER/N,
m‘]%ﬁﬁfi‘%‘ﬂﬂ ’ é'i& [u] Ej] j] Ps min=0.8barﬂ‘f ’ %EF_“Z;}&/J\EQO%O Vg<Vg maxwﬁgﬁﬁjﬂ ﬁﬁmﬁao

1) Once Vg=Vgmax,  the value is applicable to the inlet pressure at suction port S is Ps = 1bar (absolute pressure), when the inlet
pressure Ps increase or decrease the displacement,the speed can be in creased,when the inlet pressure Psmin = 0.8bar, the speed
should be reduced to 90%. Vg < Vgmax value when the speed limit.

2) ERFEREANERRESNE For drive shaft free of radial load

T4 T

H%E 4% Torque Distribution

Te

—&R
First pump

T3
Tb

56



SMERST #4845 (#=HIPL4ADR, DRG. DFR/DFR1)
Dimensions size 45 (Control devices DR, DRG, DFR/DFR1)

9
E= 6.3
15030192\,
W iR
: s
: (1 [e
S [olf=) |
N
§ AR
CRC
35.7,
15.
W
3
L2 Al =
& @% } "
’ 5
5 A €
5. < *@ T S v [E4LE
Sk 26.2 -
|
i i B 3
hd ™
g A %%7: D
] @ = & JBE
‘ | MB ﬁ *
129 s
113.2
146
935 | 146
B S S B
PSS
Hhf Shaft
S fegih, 15T 16/32DP"? R 7Eg#%h, 15T 16/32DP"? P 4% DING885, ABX7x36
(SAE J744) (SAE J744)
38 42 +0.3
2 16 - 16 -
S g
o i 5 2 19 % 8
= = A5 ;
= = 2 I
= L S 3 K _
B — I 3 T & 842y k77 .
o S =
N IS
30 AR 29.5
45.9 45.9 5

57



@0 Ports 53 Mg Pmax [bar] IR#s
B it OOutlet port SAE J518 1in

K E#B 4 Fastening thread DIN 13 M10 x 1.5;17(F) 350 o
S i#ih OSuction port SAE J518 11/2in

& E#R g Fastening thread DIN 13 M12 x 1.75;20(:R) 10 ©
L ittihh ODrain port DIN 3852 M22 x 1.5;14(R) 2 o
L. itt i1 ODrain port DIN 3852 M22 x 1.5;14(&) 2 X
X #2 il OControl pressure DIN 3852 M14 x1.5;12(iR) 350 (o}
X #24%l E SiControl pressure for DG control DIN ISO 228 G 1/4in;12(®) 280 (0]
Mg U E JE 51 B Measuring pressure B DIN 3852 G 1/4in;12(F) 350 X

v DG - RRESHREH

E &I e 6
W RN E

v DRG -2 &% & 5 & 28

& & MY £ # 19
R A B

v DRF/DRS 1 EAFmERH 8

ﬁ_éj::

v LADS - EA1. EMD R

222.6

EEIN sk s
W R AL B

v ED7./ER7.-EBaiE /1 #5288

max. 110 |

&S MBS A # 1
RN E

58

B A IRE e 2 0
WRER B



SMERST #4871 (#=HIPL#ADR. DRG. DFR/DFR1)
Dimensions size 71 (Control devices DR, DRG, DFR/DFR1)

9 115
E= 6
1ISO 3019-2
;’)—h A
| ‘ ] g
l 1 | =
g | | H = W e
s 0 :
o | | - 3
[ | < ©
| o | i ) ',:8‘ .
—] u, = —
= A || B== 0
i 42.9
18 S
53 Ly
217
277 24
W
218 _
(@]
i
i
% V [ E
< / £ 26.2 ©
b ¢ T 8
= 2 XS o 0y —
\ | 0 i
5 "
-1S = @
180 ‘
107.5 ] 154
&1 B e E B
(PR ES A=y
il Shaft
S TE4#%, 14T 12/24DP" R TE58%, 14T 12/24DP"? P E4g%h DING8S5, A10x8x45
(SAE J744) (SAE J744)
47.5
r 50
o 19 ! 19 45
N 6 2
% & 6 22 % 10
= | - 2 25
S -l ‘\‘ { 8 = = ~
s - 7o) ool 2
b = e} 3| s8 & K7 0
s 7= < 3| g gL 3
£8 CIpEE:E S 38
55.4 55.4 60

59




8 O Ports FRE & Pmax [bar]| 75
B i AOutlet port SAE J518 1in

K B84 Fastening thread DIN 13 M10 x 1.5;17(iF) 350 o
S i# i OSuction port SAE J518 2in

Z B84 Fastening thread DIN 13 M12 x 1.75;20() 0 ©
L ittih ADrain port DIN 3852 M22 x 1.5;14(&) 2 0
L. ittt il ODrain port DIN 3852 M22 x 1.5;14(iR) 2 X
X #z#li8 OControl pressure DIN 3852 M14 x1.5;12(iR) 350 o]
X #2#l E S1Control pressure for DG control DIN ISO 228 G 1/4in;12(i) 280 (0]
Me U2 JE 1 B Measuring pressure B DIN 3852 G 1/4in;12(F) 350 X

v DG - RREREEH

212

@
|

X S&IMETEHERS | 1015
MERNE

v DRG -z &% E 71 #4528

&S B SIS )
e A

v DRF/DRS EhFiiE %38

172
X
==
@ !
— )
| <
J_il! b /

&S B $t e 4% &9
W % d i B

v LADS - Ef. MmEFIThEREH

v

60

1S A e 6

W& EAE

ED7./ER7.- I E /1 #2588

i % 5

B & S e

126.5,




SR #8100 (3=HIH1#aDR. DRG. DFR/DFR1)
Dimensions size 100 (Control devices DR, DRG, DFR/DFR1)

EZ 9

ISO 3019-2 \

100
=
)
o
)

2180 -0.063
R

88.9

100

22

[o0]
i
SRS
O o .
S - [ \ V [EHLE
[fe]
0
© )
i
N~
©
©
118 ‘ 164.9
ER=R U i =i
(IR VA=
il Shaft
S T#EH, 17T 12/24DP" P Fge4h DING885’ A12x8x68
(SAE J744)
_ 54 70
= 28 68
e 9.5 28 B’z 12
= _ 15
& 7| 2
Q I”I \‘ }‘f () _
= Z o 232 7
? So ﬁ Yo
g gl = -1 \) 3
Q
43.5 }
61.9 80

61



M O Ports FRHE & Pmax [bar]| k&
B it OOutlet port SAE J518 11/4in

KBB4 Fastening thread DIN 13 M14 x 2;19(iR) 350 0o
S i# i OSuction port SAE J518 21/2in

KBB4 Fastening thread DIN 13 M12 x 1.75;17 (&) " ©
L ittti&s ODrain port DIN 3852 M33 x 2;16(R) 2 o
L. tttjf ODrain port DIN 3852 M33 x 2;16(iF) 2 X
X #=#li8 OControl pressure DIN 3852 M14 x1.5;12(iR) 350 0
X #2 I E F1Control pressure for DG control DIN ISO 228 G 1/4in;12(i§) 280 (0]
Ms fU| 2 £ 71 B Measuring pressure B DIN 3852 G 1/4in;12(iF) 350 X

v DG - RREMREF

268

ESINE $HHE 6
W% fr B

v DRG -z R HE#H28

107.2,

B IeS SHEH B 164.8
HRFEAE

v DRF/DRS-IE N #0i7 E42 588

164.9

107.2,

& & IR hE # &9
BRI E

62

v LADS - EA1. mEFT) REH

EE IR e 6

W % e B

v ED7./ER7.-BaiE S #2188

133

s et B

E B SHATHE H)




SMER ST 8140 (3 HI41#4ADR. DRG. DFR/DFR1)
Dimensions size 140(Control devices DR, DRG, DFR/DFR1)

9
6.4

E=

1ISO 3019-2

88.9

2180 -0.063

@18

@
@
max. 110

200
158.4

©
®
104 ]
1105
66.7

h

-
Q

prapriNEap ddi
kA=

Hifh Shaft

S 7E42%4,13T 8/16DP" P 4244 DING885, A12x8x68
(SAE J744)

67

32
10

1/2-13UNC-2B®

%] 1]

1
@50

48.5 ,
s |

53

75

63



8 O Ports FRE & Pmax [bar]| 75
B i OOutlet port SAE J518 11/4in

% | $8 4F astening thread DIN 13 M14 x 2;19(F) 3%0 | 0O
S i#ih OSuction port SAE J518 21/2in

Z B84 Fastening thread DIN 13 M12x 1.75;17(R) 0 ©
L ittih ADrain port DIN 3852 M33 x 2;16(iR) 2 (0]
L. itttjf ODrain port DIN 3852 M33 x 2;16(iF) 2 X
X #z#li8 OControl pressure DIN 3852 M14 x1.5;12(F) 350 o]
X #2 %l & F1Control pressure for DG control DIN ISO 228 G 1/4in;12(i§) 280 (0]
Ms fU/ 2% 71 B Measuring pressure B DIN 3852 G 1/4in;12(iF) 350 X

v DG - AREHNEF

EEIMEY $hE% 5

Bz FENE

v DRG -izf2 2| E S #5428

v LADS - £/, mEMHHREH

v ED7./ER7 -2 &) E S ¥= 88

B IR S HEs 6
% B

v DRF/DRS-IE 1 #0ij% #4241 28

ESIE $iEsk 6
W R B

max. 110

max. 110

64

E S IME $HHER 6
WRENE

& & IMEY £ HEH &
RN E




i@ R~ Dimensions,, throug drive

% 2Flange ISO 3019-1(SAE) | #£%Hub for splined shaft’ EMAS  Availability over sixes RE
E1&Diameter Symbol H1&Diameter 45 71 100 140 Code
80-2 Sood 3/4in 11T 16/32DP ° ° ° ° uB2
100-2 $ooc® 7/8in 13T 16/32DP ° ° °® ° UB3
® = Available - = Not available
v 80, 2-hole
M10;16(%)” M3 Of&
M2 #® uB2 NG M1 M2 M3
N
= 45 264 RIBEZHE
EH 71 299 21.3 | 40.6
i == b | (SAE J744 16-4(A-B))
S 100 360 19 38.6
140 377 19 38.6
1.9
MUERKEZ)
v 100, 2-hole
. :”nﬂ?
M2 2208 UB3 NG M1 M2 M3
45 264 18 41.7
71 299 | 20.3 | 441
(SAE J744 22-4(B))
100 360 18 41.9
140 377 18 41.6
MIEREKEZ)
% 2Flange ISO 3019-1(SAE) | ##2Hub for splined shaft’ EMAAS  Availability over sixes rRE
E1&Diameter Symbol B 1&Diameter 45 71 100 140 Code
125-4 % 1in 15T 16/32DP ° ° ° ° UE1
160-4 % 11/4in 14T 12/24DP - ° ° ° UBS8
® = Available - = Not available
v 125-4
M12; 22 () UE1 NG M1 M2 M3
45 264
RIBEE %
71 299
(SAE J744 25-4(B-B))
100 360 | 18.2 | 46.9
140 377 | 18.5 | 45.9
V¥ 160-4
M3 . opm
2 Yl uB8 NG M1 M2 M3
=
%W 71 299 | 20.1 58.1
100 360 19.8 | 56.4
g% (SAE J744 32-4(C))
88 140 377 19.8 56.4
180 387 | 20.1 56.4
o
MIEREEZ)
1)30° EHf, FER, MERE, NEFLS

According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
3)#F&DIN 13 K424 Thread according to DIN 13

65




%2 Flange ISO 3019-1(SAE) | £ #2Hub for splined shaft’ EMAS  Availability over sixes S
HE{ZDiameter Symbol B & Diameter 45 71 100 140 Code
11/2in 17T 16/24DP - - [ [} uB9
180-4 3
13/4in 13T 8/16DP - - - [ uB7
® = Available - = Not available
v 180-4
uB2 NG M1 M2 M3
100 360 9 63.9
(SAE J744 38-4(C-C))
140 377 10.2 74.9
MIERREZ)
v 180-4
158.4 M16; 22%) va  OF®
A M2 ﬂj“
- UB7 NG | M1 M2 | M3
- R (SAE J744 44-4(D)) 140 | 377 | 104 | 77.4
Q Q)
“Tle
MIEREEZ)
#%2Flange ISO 3019-1(SAE) | £ Hub for splined shaft’ EAAES  Availability over sixes =
E{ZDiameter Symbol B f&Diameter 45 71 100 140 Code
Sood 5/8in 9T 16/32DP [} o [ ] [ uo1
82-2 (A)
Sood 3/4in 11T 16/32DP ° ° ° ° us2
® = Available - = Not available
v 82-2 (A)
5 M3 _ orm
A M10:166R) M2, | =@
uo1 NG M1 M2 M3
. 45 264 | RIBEEMEK
1 %lé 71 299 | 9.3 | 61.3
g (SAE J744 16-4(A))
100 360 10.5 65
. 140 377 RBFEMHE
MIEREEZ)
v 82-2 (A)
uB8 NG M1 M2 M3
45 264 18.6 38.7
71 299 20.7 41.4
(SAE J744 19-4(A-B))
100 360 17 38
140 377 19 38.6

MIERZEZ)

1)30° EN A, FiER, MALRE, AEFRS

According to ANSIB92.1a,30°

3)#FFADIN 13 By4E4Thread according to DIN 13

66

pressure angle, flat root, side fit,tolerance class 5




i@ R~ Dimensions,, throug drive

%2 Flange ISO 3019—1(SAE) | # #2Hub for splined shaft’ EMAS  Availability over sixes RE
EfZDiameter Symbol H ZDiameter 45 71 100 140 Code
Sood 7/8in 13T 16/32DP ° ° ° ° u6s
101-2(B) e
$ood? 1in 15T 16/32DP ° ° ° ° uo4
® = Available - = Not available
v 101-2 (B)
M12:22(*??:)3) U68 NG M1 M2 M3
45 264 18.2 | 41.5
71 299 19.7 | 4441
(SAE J744 22-4(B))
100 360 17.4 | 41.3
140 377 17.4 | 41.6
MIEREEZ)
¥ 101-2 (B)
M12; 2268
uo4 NG M1 M2 M3
45 264 RIBEEMHE
71 299 | 20.8 | 49.1
g - (SAE J744 25-4(B-B))
| 100 360 17.6 | 46.6
=1 140 377 17.9 46.3
.9
MIEREEZ)
% 2Flange ISO 3019-1(SAE) | ##2Hub for splined shaft’ EMAAS  Availability over sixes rRE
E1&Diameter Symbol B 1&Diameter 45 71 100 140 Code
1in 15T 16/32DP ° ° ° ° UE2
127-4 (C) 83
11/4in 14T 12/24DP - ° ° u1s
127-2 (C) Sood® 11/2in 17T 12/24DP > - ° u24
@® = Available - = Not available
UE2 NG M1 M2 M3
¥ 127-4 (C)
. ) 45 264 | 18.7 | 46.6
M12; 22(7)% %%
[ 127-4 (C) 4 299
100 360 RIBEE Mk
140 377
u15 NG M1 M2 M3
71 299 | 21.8 | 58.1
MIEREEZ)
1 360
127-4 (C) 00 BB B
v 127-2(©) 140 377
u24 NG M1 M2 M3
100 360 | 215 | 62.3
127-2 (C)
140 377 10.5 | 62.3

1)30° EHhfa, FHR, NEES,

According to ANSIB92.1a,30°

NEERS

3)#FADIN 13 24 Thread according to DIN 13

67

pressure angle, flat root, side fit,tolerance class 5




%2 Flange ISO 3019-1(SAE) | £ #2Hub for splined shaft’ EMAS  Availability over sixes S
HE{ZDiameter Symbol B & Diameter 45 71 100 140 Code
11/2in 17T 12/24DP - - [ ] [ ] U96
152-4(C) 53
13/4in 13T 8/16DP - - - [ u17
® = Available - = Not available
v 152-4 (C)

u96 NG M1 M2 M3
100 | 360
152-4(D) RIBEEH K
140 | 377
MIEREEZ)
v 152-4 (C)
616 M16; 22 (57 M3 OFE
M2, | gm?
I u17 NG M1 M2 M3
. =13 152-4(D) 140 | 377 11 77.5
8

MIER#EZL)

1)30° ENf, FiEIR, MERS, NEFRS
According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
3)#FFADIN 13 By4E4Thread according to DIN 13

68



	欧盛样本1
	页 1
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 102
	页 103
	页 104
	页 105

	欧盛样本2
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41

	欧盛
	欧盛样本1
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101





